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W' - A [ SECTION - A

_ TS Wy | Objective Type Questions
F¥ T AT 1/ 80 7

mark. your selected option on t

he OMR sheet, 40 x 1=40
Lo Tovioeen 3 9 o ot @ e & |
W et B) sFm
€ =k (D) @ w
The changes that take place during adolescence are called
[A)  Diversity - (B) Germination
(C] Puberty (D}  None of these

2. Freffien 4 9 viaw Peem w5 v o gt d o

-

(A)  Erwm B) ®Bm
(C) %W A (D) o & W
Which of the following is an effective measure used in [amity
planning ?
(A} Diaphragm {B] Condom
(€) Copper Tand loop (D)  All of these
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EE Wm#yﬂ%?
#ﬁﬁfﬂaﬁ#waﬂm

& mﬁ@a‘i#gﬁfﬂm,a’taﬁﬁqﬁg
D) i @ A

aning of atavism ?

(A

(B)

What is the me
E nheritﬂﬂce-:'r parental characteristics in progeny

(A
(B)  Noinheritance of parental characteristics in progeny
(C) Inheritance of ancestral characteristics in progeny, which are
not in parents '
(D) Allof these
4, Tt S & S g e #
() (B) e
() R D) Rfaym
The genetic structure of an organism is called
(4)  Phenotype (B)] Genotype
(C) Heredity (D)  Diversity
5. gk 9 g o 1 e wEe 8
() HEEER | B) TR
ic) e fwm (D) SIfEEmRE
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The £y i
ol n i ' i
utiom nf Organsms h'F natural selection is ca[lcd

) Mendelism (B Lamarckism
€ Micro.g
) N i evelopmeny (D) Darwinism
LLECE - TR #
[A)  cre
(B aADp
C)  Atp
I (D] DDT
C chemica) wh;
which shows biomagnification je
A} cre
(B] ADP
[C)  Atp (D) DDT
P ST Imi e
(A g (B} waferd
(C)  wimmEd (D) smewTEr
Primary consumers are called
(A} Decomposer (B} © Omnivorous
(C) Carniverous (D) Vegetarian
8. CFC % =% 3w 2 2 -
(A)  Fe =l i (B) Tl i
(C)  wat wiw o [D]I A adt
CFC is w:'dﬁf;,r used in
(A)  Jet engines : (B)  Refrigerators
(€] Air conditioners (D) All of these
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ﬂﬁﬁﬁﬁﬂﬂﬂﬁmﬁmmwmmﬁﬁlﬁﬂmﬂ -

[ (A Rl o o (B) TA-tfy foyr
(c) e e (D) A Fd
A horizontal magnet hanging freely in air always comes to rest in
(Al Any direction B Bt West dirsetice
(C) North-South direction (D) None of these
10. ﬂﬁﬁﬁgﬂmmﬁ?mmrﬂlmtﬂﬁmﬁﬁ
) Ff g B) awEE AR R g
(c) fyafm 7@ Bl (D) sﬁﬁqﬁg;gf
If a compass is placed near a wire carrying electric current, i
the compass needle
(&) Wil be deflected
(B] The current carrying wire will be deflected
[c) Willnot be deflected
(D) None of these
1. Wﬁa@ﬁ;ﬁﬁﬁ‘lﬁﬁﬁqﬁmﬁaﬁ
' g faegd e % Fm
) g e AT (B)
© () ot @) e (D) Fﬁﬁﬁfﬁ .
Faraday made many revolutionary discoveries, including |
(A) Electromagnetic induf:tinn
(B Lawof electrolysis
(C) Both (A) and (B]
(D) None of these e al’E
| Eﬂf_'hiﬁlﬂ-
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(A]
(B
(€]

(D)

TR Sl ) ey v
R 3 ) gt
e o 3 o e i

R o 4 vt o 4

An tlectre Mmotoy COnverts

(A
(B)
1<)

()

Chemicy) Energy into electrical energy
Electrica) “nergy into mechanical energy
Mechanica COETEY into electrical energy

Eleetrics] Cnergy into chemieal Energy

b ”ﬁﬁﬁmmﬁwﬁﬁmaﬁammm%

(A]
(B)
(C)

(D}

TR 8 ) fa

SR W o v 6 fa
i ¥ v fegm v o oy
A w5

In Fleming's left-hand rule, the index finger of the left hand

indicates
[(A)  Direction of magnetic field
tE-j. Direction of electric force applied on the conductar
(C) Direction of electric current flowing in the conductor
(D) None of these
S3/A/613 Page 8 of 32
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el e e 8 Rt SR 523 g B gy o)

B A Ty st
et i g B 8 2
() Rl wR % B) IR v
() Farel of) w6 R D) A w5
When electric current flows through a “onducting wire, what type
of magnetic field is generated above and beloyw the wire 7
(A}  Opposite Lype (B)  Similar 1ype
([C] Mot of any kind (D]  None of these

|5, e Taegn el hE SR H 59 i o
(A) B s
©  (a) 3 (B) T D) A
What type of energy source is hydroelectric energy ?
(A]  Renewable (B] Non-renewable
(C) Both (&) and (B] - .{']j:' None of these

16. aﬂﬂ-ﬁ[ﬂqﬁfﬁﬁm%mm%F
) T (B) T SR
() T @ AR
Which gas is responsible for global warming ?
|A)  Nitrogen (B] Carbon dioxide
{C) Oxygen | (D) None of these
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| 5
: | 4
T ey W wvg § o
A
) 4 (D) 5
How i
W many 1S0mers of butane are possible ?
Ay 2
iB) 3
IC) 4
D] 5
1
P PR I e g o
(A} oty
(B Feen
1€ Ty (D) seweEm
The shape of methane molecule is
(A]  Linear .[.B] Annular
(€} Tetrahedrs) (O Gctahﬂﬂr&;l
19.  wwefrs difie % g ) T il §
(A) 1 ' (B) 2
) 3 D) 4
The valency of carbon in organic compounds is
a1 B) 2
c 3 (Do) 4
20. Fm 4 @ % dqw w2 0
) B R
[c) ﬁ?-mls:r D) ¥ A w5
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(3 scanned with OKEN Scanner



ﬂ [112]

which of the following is saturated hydrogarbon

Ay Alkant B  Akene
(€} Alkyne D) MNoneé of these
g1, e F1 IUPACTH ®
) TR (B] T
) D) T F
JUPAC name ol ethylene is :
{4} Ethane {B) Ef-h}'m: ;
(C) Ethene (D) None of thesc
22. el ) aad FTON B TH H A :;
) oo H T ,
@ c# I WA A 3 f
) T i 3 e e ;
D) T &
Which was a defect of Mmdg!ﬁw's perindic table ?
(4) Not giving proper place to oxygen
(B) Not giving proper place to Cl |
(C) Not giving proper place to hydrogen
(D} None of these
23, mmﬁmﬁnﬁ‘iﬁﬂﬁﬁﬁaﬂiwqﬁmﬁﬂﬁmWP
() e B AN
(C) R (D) EHET i
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Whe among the following propounded the laws ol octave ?

(A} Mendeleey B] Newlands
(€] Lother Meyer D) Dobereiner
24, %ﬁﬁﬁ%mmmmP
BF. 8By | (B} Na,O
S Mgk D) No,
Which of the fellowing compounds would be the most basic ?
4)  so, (B Na,O
©' AlLo0, D o,
25, ﬂtﬁ&mmmﬂaﬁﬁﬁ%ﬁgmmm% ?
(A} HE VII % (B wELlE
(C) SR , (D)  a7Eng Tl A
Magnesium is a member of which group of the periodic table ?
(A} Group VIII (B] Groupl
(C)  GroupII ; (D) chmeta]li;c element
26.  HEd wweft i fead wEd § ;
(A) 12 B 9
€ & oy 7

How many periods are there in the periodic table ?

a) 12 _ B ©
© 8 B
| S5/A/613 Page 12013
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29.

30. i i el G B E 2

> preiferfia i @ S0 TR 6 A Ry g g

| 112 ]

which of the following is not an ancient method of water

(A) 1B}
) A (D)
harvesting r

(Al Katta (B)
() Dugwell (D)
Pt gty Fmfo =7 300 w17 2

) el ST (B
c) W (D)

what was the objective of construction of Tehri Dam 7
Land irrigation

Electricity generation  (B)

(A)

{C) Water supply )

srafire St 67 7 I =@

@A) TN ®)

c w0 (D)

What is the new concept of waste management ?
(A} Reuse (B)

[c) Reduce (D)

i | it

All of these

o & Al

All of these

(A) I (B) |

c) . i (p)

! Page 13 of 32
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Which of the following is a rencwable resource ?
ﬂ £y
(Al Conl (B) Forest
(C)  Petrol .
“um (D}  None of these
a1.
1. Feafafes 4 29y RS 1 e wew 2 o
(A) ST s (B)  wegr wese
(C)  HeEry (D) T
Which of the fﬂlluwing is the main component of biogas ?

Hydrogen sulphide

(A)  Carbon dioxide (B)
(C)  Water vapour (D). Methane

32.  few et B wwar .
(&) wW  En (B) mﬂm@ﬁﬁ

C) WiTFRTwY@@EY (D) FHISEWE

Peptic ulcer can be caused by

(A} Eating less food (B) Eaﬁng normal food

(C}  Prolonged starvation (D} None of these

33.  FeEm M g 5 fg tew F fgm 2 5
(A) FAleE - (B)  iEEE

(C) FWwew (D) T
In which state is the Kalpakkam Nuclear Power PiE;n'l lacated ?
(A) Karnataks (B)  Tamil Nady :
(C)  Uttar Pradesh | (D)  Gujarat i
[ 38/A/613 ' s
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e e (LPG) 1 W@ Hewa

34
(A) A i
[C) #d D) it
The main component of domestic g8s (LPG) is
(A] Ethane B) Propane
(C) Butane O Ml

35, Sl & @) TR N § |
(A) i T e B) e e A
© S iiE D) W
The two non-renewable sources of energy are
(A] Gobar gas and biomass
(B) Coal and petroleum
(C) Biomass and petroleum
(D) Noneof these

| 36. v e T o SRR 2

(A) EEH . B I
() S (D) IFEE
Which type of reaction is respiration ?
() Combination B) Reduction
(C) Endothermic D) Crxida[:im-l

Y s 8 2 i e
(a)  HERE (B wEEAE
) g waed p) wHAFE B

Page 15 of 32
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Compounds formed by transfer of electrons arc called

(A)  Organic (B] Covalent
(C)  Electrovalent (D] None of these

38.  Frefeiiten sfufanadi f 3 2 sz 41 s =1 w2
1A} Hy +1; » 21
(B NH,CNO—H,NCONH,
(€] NaOH +HCl Naci + H,0
(B]  2KCIOy»Kel +30,
Which of the following reactions is an example of d-::::ﬂm?usitinn
reaction ?
(A} Hy +1, - 2HI
(B)  NH,CNO-»H,NCONH,
(C) NaOH + HCl— NaCl + H,0
D)  2KClO, +KCl +30, '

39, Tfifia § fwd edis s am g 2
(&) w@w @ v
[C) TR (D) T _
In which of the [ollowing is tartaric acid found ?
(A} Orange (B) Tamarind |
(C) Tomato (D} Vinegar

40. 93 TG F THEAS THFME P o
(4) Homm siwfEadE - (B)  HowEw RS
(C) v HiaEmE (D) e EEEEE

S8/A/613 - Page 16 of 32
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ﬂ what is the chemical name of slaked lime p

(Al Calcium oxychloride  (B]

(€ Calcium oxide (D)
4l fal & g ) e 8

(A) W g (8]

© (a3t (B) &R (D).

A group of rays 18 called

()  Light beam B

(C) Both (A) and (B (D)
42, T I faprdl T w8

) feef oft fean (B]

o dhwmE )

The light rays travel in g

(A} any direction (B}

(C) astraight line i (D)
43, aad g 8 TR g ?

() (B)

(C) mﬁﬂﬁﬁmmaﬁ (D)

Which
(A} - Divergent
(B) Convergent

[112]

Caleium chloride

Caleium hydroxide

o
il 2w

Ray beam

None of these

ferweft T
il @ wi

oblique litie

nione of these

ST
ZH A HE A6

type of mirror is a CORCVE mirror ?

(C) Both convergent and divergent

(D) None of these

ssaeia]

¥ |
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H . .

9, W H eere F Puefafug § 2 Fﬂiﬂﬁﬁﬁimﬁfmmmﬁ
A I e (B g
o W D) @ BT
i‘:i:h of the following types of mirror is used in the headlight o
WA Convex mirror " [B) Concave mirror
(€) Plane mirror (D) None of these

45. e gin £y BT Eﬁ i B
®) o e e
() (a) 3R (B} ZHi D) T G P T
The focal length of a concave mirror is
(A} Positive (B) Negative
(C}  both (A) and (B) (D) None of these

- Torw 7w @ gim ag & ot wiifie @ R 2

(&) IEad (B) WA
(C) e | (D) T @ I A
Which mirror always forms an image smaller than the object ?
(A) Concave ~ (B) Plane 3
(C] Convex (D] None of these &

47. a | e @ =, Gata 61 b g 2
(a) = . (B) U]
(| =H . (D) W& BT

SS/A[613 | ITHN0E Page 18013
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The speed of light in ait as compared (o vaeyum (s
(A} Luss ™ More
(C)  Same (D) None of theae
45, T G Rl wy- wen il B Rk § wefls @ 3 2
(A) e (B =vl-Fadu _
() S (D) 3ty
Which phenomenon exhibited by light is demonstrated in the of |
twinkling of stars ?
(A] Reflection (]  Dispersion
(C) Scattering (D}  Refraction |
49. et 1 e P fgn w0 e R, s s o
() STt B R B) fem &
(c) fiew g ¢ (D) T F A E
An aqueous solution of acid conducts electricity because acid in
water
(A) gels jonized (B) is soluble
(C) is insoluble (D) none t.:f these
50. Freafefiad 38 ®H e T+ {olfactory indicator) TE?
(a) A (B) af¥e
C) T ) FEEW
Which of the following is ot an olfactory indicator ?
(A]  Clove oil (B) Vanila
(C) Sweet potato (D)  All of these e
0
SS/A/613 Fage 120
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51. fd‘rﬂﬁ;ﬁmﬂaﬂq.mmmﬁi? ~
(A TR B  RE
(O A o © e
Which acid is found in ang sting ?
(A)  Citric acid (B]  Acetic acid
(€} Methanoic aeid (D)  None of these

52. Fwifen § Pt o f gi 2>
W) FOEEEH - (g ERE A
(C) g =) (D) - i
Which of the following is kept immersed in water ?
()  White phosphorus (B Red phosphorus
(C) lodine . (D)  Sulphur

53. e i wimfe % wu i iR e e ¥

W g (B) e (7T)

€ wf (D) o E =i
The substances, present as impuritiés m on ore, are called |
{4) Slag [B) Gangue
(C) Mineral (D) * None of these

54, Freifea & fra u@ﬁﬁﬁmﬂmmmﬁ |
(A) Na (B) Cu
(€ Wi D) Al

SS/A/613 | Page 20 of 3
¢
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ﬂ which of the following metals can be easily cut with a knife ?

% Na (B) Cu
[C) Ni D} Al

5. a1 3 e urg fres fsg a6 o § 2
() Fe (B Cu
([C] Zn (D). Ag
Which metal is mixed with gold to make an alloy ?
@A) Fe B Cu
[C) &n. D) Ag -

cp, TfeTRE g T o E
(&) 99 (B) g
() famag D) I
gilicon is a/an
(A) Non-metal | (B} Metal
(c) Alloy | (D) Metalloid

57. ﬁﬂﬁlﬁﬁ@fﬁmlﬂﬁ,?ﬁ. : L
(o) f+P=0:5 B fxP=1
 P+f=l D) P+f=2
If .'Lh::. focal length of the lens is fand power is P then
) f+P=0-5 @) fxP=l
© P=f=l D) P+f=2

| Page 21 of 32
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58, ﬂ.ﬁﬂﬂﬂﬂﬂ#-mmﬂmﬁiﬁ:}ﬁmuﬁrmmﬁmﬁ?

[A)
(<)

wH

e

Whi
ich part of camera acts like the retina of the eye ?

(A)
IC)

b (B)
fiem D)
Aperture (B)
Film (D)

Lens

Shutter

> T TR 3 5 oy -y o qr-fg o 21 €

25 cm T4 250 em

(A}
[C)

0T I

25 cm W 3Fig

{B)

(D) 0WF 25cm

For a healthy human eye, the near point and far point g,

respectively
(Al 0and infinity
(C) 25 em and infinity

(B) 25 cm and 250 cm

()

0 and 25 cm._

60. 5 W @2 il el ¥ S v B 2

(A)
(C)

GG
Ear|

(B)

(D)

e

el

] I T . ' .
| To an astronaut standing on the moon, the sky appears td be

1] (A)  Red (B] Blde

[ (C) Black (D)  White

[ 61. ¥ wH-g BT § A 3 T A d b

| | (A -l g B e

=2 (€ Frre-zfe g (D) i

l|'? | S8/A/613 o ;jéa_g.: 23 of 31
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The decreased accommodative ability of the eye causes

{A)  PFarsightedness B)  Presbyopla
(©) Nearsightedness (D}  Celourblindness
2. TREl A & vl 1 HES 2
(A} m B Q/m
c (D). il @ =
The unit of resistivity in 8 conductor is
(A) Om (B) /m
c o (D] Mone of these
63, 19g # e st ad e
19
(A} 0-23 B 0
(C) 0-21 (D] 0-25
How many calories are there in 1 joule ?
0:19
(A) 023 {B)
gy 021 (. 922
[ ; i
w1 =0
s TmmEed Ereife Pt 4 Foa W1
ikl (B ﬂﬁﬁm
ﬂ -
W i
(C) A

an electric hulb is m

(B Aluminium

- ade of which of the foll

[ 112 ]

oWing

p) Coppet
() Tungsten (D) TR

B
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65 Frw o wfim ¥

A S (B A
(© o it 3 (D) s @
Bile juice is secreted by
{A)  Oral cavity (B] Liver
(€)  Small intestine (D)  Stomach
66. G F R WigR w1 v el dvm @ 5
(CYIE 5 e e——
LR S R S —
(€} T FT e dhwwer w=mT
(D) ¥ & % 4t
What is the function of the villi located in small intestine ?
(Al Blocking absorption
(B) Eﬂduﬁﬁg the surface area nf.abaarpﬁan i
(C) Iﬂdrmasing the surface area of absorption
(D)  None of these i : i
67. HE T %I wemamé e
(A)  mrEEet (B) et gl
© e - D) wEwE

The posterior part of the oral caﬁtir is .
(A) Esophagus .~ ' (B). Pharynx .

.-'l.-r_'.-:
e ot

P R
R T B

LI A | ] Tt . §
e el

(C) Duodenum . (D), Pancreas

-----
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T Fge
[C) H=:yEeA D) A

5 . r
The transfer of O 2!:rﬂﬂ!'l outside environment to cells and removal O

€0, is referred to as

() Exhalation (B) Respiration
(C) Inhalation (D)  None of these
60, TET—gTe o siede w1 e B #
(a)  TlEIE B CO,
(c) W _. ()

The basic source of oxygen in photosynthesis is

()  Chlorophyll B €O,

() Water | (D) smia_r energy :
70. Frorffiga § frd SR H Fell T & e 3w AR 7

(A) ATP (B) ADP

() DTP (o) v A EE

Which of the following 1

cell ?
ADP
(A) ATP (B)
DTP [D] None of these
(C)

I Page 25 of 32
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). mﬂmm;m o
A Mg
() mmm%ﬁm (B)  affeter F1 9g7 & forg
. mﬂﬂaﬁﬁiﬁmm} T 1 wE  fy
yiem in Plant js Tesponsible fo
r
(A) Earr:.ring of fong B)  Carrying of
G g ﬂ. OXYEED
by ;mng ofamino acig (p Carrying of water
| ﬁ:ﬁmﬁﬁﬁﬁqhﬁaa_ Temuuando
A) T s v (i
ol TS WBC) ) e | g
o Rl | (D) ¥ & weft
ro 3
N M plasmg, which of the following is found in blood ?
\ White Blong oy (WBCI(B)  Red Blood Cells (RBC)
(€} Blegg Plateletg (D) All of th .
| 0 ]
3. T v T S 2
(A T g (B) Wﬁﬁ i
(C) st - (D) 3
oS
Double Circulation is gt found in
(&) Fro
. £ B}  Fish
Bird |
o 1 * D) Human
- T o e TN EA L -
A Tma .
(B)
e ol - WEg g

")

[ss/ajers ]

i

e Page 26 o7 2.
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From Where does urea enter the blood ?

(A} Kidney (B)  Lungs

(C)  Liver (D)  None of these
5, TR S Rl g

@A) PCTH (B) DCTH

€ T ) AT

where does glhucose reabsorption occur ?

(A] InPCT B InDCT
() In Henle's loop (D)  All of these ¥ W
el = Tl H T Frprer
76, Tl fradl % wewE & whET
) heEd & |
i (B) G T
(a) = G E] | .
(C) e a3 (p) R e
{ormed &
hanism for removing hanfnll'ul substances
The mecna v
1t of various activities from the body 18 ¢& :
resu _ I H
reulatory sY
(A) Digestive gystem B o . p
Nervous S¥S
(C) | Excretory s;_rstﬁm (D) £
‘Fl
et & A & w1 B @A & .-
i ..
] Pl {B) a’mﬂ
()
15) N L
- ﬂgﬂa page 27 of _,
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A Goitre oy DamEC

€ Diabetes (D) Paralys®
W e % 0 R 7t e 4

A g @) ®

©) sz (D) ¥

The largeg Bland in the human body is

) Adreng (B) Liver

©  Ovary _I (D) Fﬂ“’-“'ﬂu
9. 99 gl T

@ Wy B) SR

© G SRR

PIantthnnﬂiaﬁallﬂi .

(&)  Pheromone . - (B) P'i1:rt*ﬂ'h“=*1'ﬂlﬂ'E‘E’E

(©)  Enzyme (D) Noneof mﬂ:

0. SR 2 sy e e 4

4] w=m (B)

€ o o

An example of vegetative propagation through 1
). odon (B)  Potato
(C)  Rose o)
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WUE - ¥ / BECTION - B '
s e/ Physics
‘ Y I W Ehnr;: Apnswer Type Questions
i Iﬁﬂﬂﬁqﬁ#ﬂ'ﬁﬁﬁ#wnﬁ#mﬂﬁ*ﬁ*
4x2=8

ﬁq’?ﬂﬁﬁ'ﬁfﬁﬂh
, any 4 question®

Question Nos. 1 to 8 are Short Answer Type. Answe
' 4x2=8

Each question carries 2 marks.
1. mﬁqﬂmﬁwﬁ?wﬁwaﬁa

Why do planets ot twinkle ? Explain.

B, ﬁﬁamﬁﬂ'—lﬁfﬁﬂﬁ?

What is called absolute refractive index ?
3. g 2 '
What is farsightedness ?
i e e e @ S g 2 ?
‘What do you understand by é].ecf_r.qmagneﬁc induction ?
5. ﬁgﬂmﬁﬁiﬁ:ﬂﬂﬂﬁwﬂmﬁh
.Wh_!,". is inert ga’ﬁ Glled in electric bullbLF'
. ﬁﬂmﬂ_mmqﬁﬂ%? s
hat do you understand BY otential difference ?
7: ﬁmzﬂﬂa’:ﬂﬁﬁﬁ'ﬁ ?
What is caj]éd the best :;',trurﬂf- of energy ?
o s EE P EE T g & 7
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ﬁmﬂqm { Long Answer Type Questions 3

o Wear g aly mﬁﬂﬂﬁqmﬂ‘iﬁﬁ‘#ﬁ?ﬂﬁwmﬁm

% iy 6 i Praffi 3, dg

g

Question Nos, 9 and 19 are Long Answer Type. ANSWEr Gy on, o  the
Each question canes 6 marks,

P RN 0 o)y 9 8 e P R P

Whal are defects of vision 7 What are theil PCS 2 Hoy, th
defects resolveq ? :

10 WG %3 ) e ik wrdfefy a7 ok
Describe the structure and working method of a biogas plang
THIET 7 | Chemistry
i Y IT uy / Short Answer Type Questions
T AT 11 ¥ 18 7w g T b & ot o B I g

™,
£

Iy
IS".]'

Y 2 s Fmifir 4 4x2=g
Cuestion Nos. 11 to 18 are Short Answer Type. Anstwer any 4 Tuestions
Each question carmes 2 marks. ; TS Idx2a 15-.

11, nﬂﬁﬁmﬁﬂwﬂﬁqzﬁiﬁmm@mﬁaﬁﬁﬁ!j |
Write three information obtairied ffom chermical equation,
12 Hifeww F16i4e #1 wefta foerm aita wim 21 w4 7
Why is an aqueous solution' of sodium Earbqqﬁ{qi' alkaline 7
13, H9% # 8 2 U% 4us 51 4 fo) Al il
What is an indicator ? Write the name of 'aﬂ_."i;fiﬂiqéiﬁjri
4. W@ AR amey . e
What is the d'tITlcrencv: between an atom and an ion ?

15. 9% = giviftg =3
Define ores.
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E FraEiE! X wE w e w e e ke
| Why have detergents replaced soap ?
17, e dum w0 A i ?

What are fossil fuels ?

18, yﬁﬁmuﬁﬁaﬁgqa‘ﬁﬂmﬂﬁmwmi?

W] eriodic
by short and long pcriuds of P

Wwhat do you understand

ong Answer TyP® Question® i
e zerdg W [ Long #wwmmﬁ nﬁﬁﬂ?i

: them.
(Juesho niy one af
a r Type. Ansuwer @ y
n Nos, 19 an

_metals 00
Differentiate between metals and non
iffer |
: ical properies.

physical and chem

!
20. _ﬁ—mm-ﬁ?wﬁﬁwﬁawﬁmsﬁ@

. 2
What is energy crist ;
S fam | Biology
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22, vawd ) vlom £ ' HIEJ

Define respiration. |

23, SIS A Wy gy 2o
What | 1
2 Is the differepce between xylem and phloem ?
a, mﬂ%?ﬁ%ﬁnﬂﬁaﬁﬁﬂ;m%ﬁi

What i3 excret: : |
Tetien ? Write the names of its two main parts, I

25, FHEAITEH = d o
/
What is Phototrapism 2
26. W Em R o

What is pollination 2
27, Dmaia#ﬁmmTwm%, +H 7
How is DNA the basis of heredity 7

28, ﬁﬁmﬂmmﬁmﬁmmmi?

W
hat are the harmful effects of aerosol chemicalg ?

20 mmaﬁqwm%?aﬁaﬁﬂhﬁl '

What isl Photosynthesis ? Describe it with a suitable diagram
30, mﬁmwﬁ#mﬁmhﬂmﬁl |

Explain recycling of waste materials with examples
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